9" Nov., 2009

(Hobbes,1651)

(Prisoners' Dilemma)

(Chicken Game)



(3, 3)

(1,4)

(4, 1)

(2,2)

(Nash Solution) N

Pareto Solution) P

C. cooperate
d: defect

NnP @



NnP @

(2. 3)

(5, 9)

(2.2)

(1, 1)

(Maynard Smith

*

172



(i=1,2,...,N)
")
Xi N * OF
Tkl (F(O) O F
F -
| y
X")
X. F(x: (N )
. (N )X
(X;) .



fx) O

F(NX™)

N

X.

1

NX~

F(NX™)

NX™

X-

Fr(NX") —

(N-)

C



F(X) cx X N
F'(Nx*) ¢

Nx+ < NX



Nx*

NX-—

NX



C(n)
D(n)
(1)
(2)

D(0) C(N)

(Dowes,1980)

N

C(n

) D)

N



(1)
n, (ng 1) (Ny)



'~ C(n),D(n)

v



Blackout

(1)

1000w

Blackout

N*



Congestion

Congestion
C(n)

N*

(2)

D(n)



I C(n),.D(M)

C(n).D(n)

11 16



